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Q. 68. The fringe spacing in 2 double slit experiment
A) wavelength of light B) width
- ©) slit separation D) distant

Q. 69. According to the kinetic theory of gases the absolute
.A) e}rmﬂy proportional to the average tranélaﬁe'né n

(B:} ?qua.i_ m the kinetic energy of the molecules. i

~C) inversely proportional to the kinetic energy of the molecules.
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CHEMISTRY
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Q. 46. Using VSPER (Valence Shell Electron Pair Repulsion) predict w
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f:l)ler‘:—?gnfn'; planarp BCl3 B) T-shaﬁ%iNB:;l eﬂ;ﬂ ;Z‘:Uff-'
C) Tetrahedral GeCl; molecule D) Bent

Q. 47. In the sequence: sodium, potassium, rubidium, cesium, one would expect that thté\
metal with the lowest melting point would bef . :
A) Sodium B) Cesium C) Rubidium D) Potassium
Ty

Q. 48. The IUPAC name for (CH;):CHCH(CH3)CH,;CH=CH, is
A) 4,5-dimethyl-1-hexene B) 4,5,5-trimethyl-1 -pentene
C) 2,3-dimethyl-5-hexene D) 4-methyl-4-isopmpy!-I-butenc

Q. 49. What is the value of 89.0°C on th

¢ Kelvin scale?
A)362 K B) -184K

C) 251K
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. . in blood sugar leye] trigge,
An “"““‘_'::H ¢he hormone insulin lowers el
the [)Lfi'IILI'L; tlood glucose level B Cotiv e Festoring the body to
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example of SR
A) positive fe 2 o - Negative feed back
C) hemeostatic imbalan D) none of all

; Jetal system function,
2garding skeletal SYS'C : ?
T\’zf}-uhoncT:.J“:ci' serves as a model for Cartilage growth,
i'&) I.cndnm connect bone to l?onc.
C) blood cells are produced in the marrow of many bones.
D) all are correct

Given these cells: 1. osteoblasts 2, Osteocytes 3, osteoprogenitor cells Which of

these sequences rep pc.w.ntsqthe order ip which they are produced?

A) 123 B)1,3,2 €)2,1,3 D) 3,1,2

Arrange the following '—*"?'_”5 i“ the correct order of occurrence after a bone is broken,
1. Osteoblasts produce ossification

2. Hematoma form:
3. Internal fibrocartilage callus and external bone-cartilage callus formation

4. Woven bone is remodeled to form compact bone

A)1.2,34 B)2,34.1 C)23.1.4 D)24.,1,3

Q. 95. Bundles of neurofilaments extending into dendrites and axons to provide structural
suppeort are called

A) Nodes of Ranvier  B) Nerve fibers C) Microtubules D) Neurofibrils

Q. 96. Flower color is controlled by a single pair of alleles. The allele for red flowers is
dominant to the allele for white flowers. A plant homozygous for red flowers is
crossed with a plant homozygous for white flowers. All the resulting plants have
red flowers (F| generation), When the Fi generation are crossed with each other,
18 plants are oObtained, 12 plants have red flowers and 16 have white flowers (F2
generation). What ratig i €xpected in the F2 generation and what ratio has been

obtained?
Expected ratio red to white obtained ration red to white
A ] 21
B) 1 s
G} 3 2_'1
D) 3 :

3:1
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Q x};;?;[;oi T-hef Tolloy INg is suitable for experiment on Jin kage?
0 B)AABE x asbb " C)ARHI A W) AABbx AaBB
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SOlill‘l;s a
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t"ess & Q. 21. The term “white coal’ is sometimes referred to which & jec ctricity D) Biomass energy
A) Geothermal energy B) Wind energy o)ty Jr {
Q. 22. Who is the Current Prime Mini ‘ D) None of all -
" &) Rishi Sunak rime I\Bd)i.gs;:: j,:hgzi‘; o Liz i | russ . §t,
y Q- 23- Ci““amo!‘l air i-s the airli“e 'or Which co“ntr},? D) Sl‘ﬂanka { <
: A) Somalia B) Iran ) Irad %
2 Q. 24. \:h:;:h of the following is not the member of Schenge? Ad in gdom D) Germany ‘
o )iSpain B) France (&) Unit
- Q. 25. Who is the current G fan? X ok :
# s overnor of State Bank of Pakis®® "~ o o D) Ishrat Hussain :
g 4 ) Faciq Bapea B) Jameel Ahmed  C) R#%
n @ : "
"i-::. Q. 2'Bn What are the Calors ofNetherl + d‘l
A C) Red, white and orange D} Red blue aﬂd greent
= Q. 27. What is full form of ISPR?
-1 A) Inter- Services P ~B) E“wr_semccs Ppublic Relations
e C) Inter-Services Public Reports D) Inter-Services Press Rejsee
Q. 28. Who is the Current CEQ of YouTube ? )
: _ 3 ; ®) Qusan W’chicki D) None of all
R
B) Oil producing expomng countries

csanntrlcs
companies D) Oil producing exporting companies

1 NJAB? .
~ B)Sardar Usman Buzdar T
ies: D)Nenc of all vy

. called in Pakistan?
C) Steering Committee D) rov

9 C)9th June 1949 D) 15th August

prime minister of Pamtm
(o) 22“‘
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Q. 87. Select the cg S thohydrate complexes
¢ A S o i
orrelating with gi\'zn:.:';?::: order of the organelles it the diagram
te g 1 & |
B go Igi b‘edles Cis face Mitochondria | Cell membrane | Cellw all |
N is face Trans face GER Cell membrane [ Celiwall |
CpEE . Golgi bodies | Cell wall Cell membrane | mitochondria |
D En-_:lop!asmm Mitochondria | Ribosomes | Cell wall | Cell
reticulum ol {en brane

Q. 88. Which of the following is the correct sequence for the movement of electrons
during the light-dependent reactions of plants?
A) Pesso 4 Pagp 2 water aNADP*
B) water A Pypd NADP+5 Peso
-C) Pao 4 Pego @ NADP " water
D) water 4 Pgso @ Pooo A NADP"

. 89. Which of the following is mismatehed?
2 l the P700 molecule in its photocenter

A) photosystem ] memmmemeen USES
By PGA—" a 3-carbon compo%md s
C) antennad complex ~====="" contains hundreds of pigment molecules

D) C AM plants =" open their stomata during the day and close them at night

to avoid photorespiration
Q. 90. Which of the following statements accurately describes the relationship
o, ben:'een hotosynthesis and ce?lular respiration?
A) Phot{l:symhesis oceurs only It autotrophs; cellular respiration oceurs only in
heterotrophs l
B) Photosynthests uses S0 ;
Qrganics; respirgnon I
C) Photosynthests invo
reduction of CU2 B eisis s s,
) I | .o function @ L respiration ic r energy to synthesize
; El'}?lf;zga;mar}' netion of cellular respiration is to break down ATP and
release energy-
L g of 10

ar energy to convert inorganics to energy-rich
d"?’“‘ .i;nergy-rlch organics to synthesize ATP
he oxidation of glucose; respiration involves the




_ . e C) carbohydrates D) proteins
Q. 4. Tears do not CORIAT — ycids
A) water

ey Sl damage the mucous membran, - 2
<ialosical tears _——— & > sight B) . :
Q.5 P\h}‘ Si;::&;g;aadimc eﬂm.m eye D) help release emotional stres:
_C) moisten and clean iz 2
major advantages pf crying for children. Q.
Q. 6. The article highlights B)]Jﬁ;u C) four D) five
A) two A 2
. e o £ ] . . |
Q. 7. Men HSSD.C.IatE crying v I; t}’ F \C) hypertension D) anxiety ‘
A) weakness | k
Q. 8. Paragraph focuses on gender differences in the frequency of erying.
. 0. i B) five C) six H} Seven 3 |
Q. 9. Women cry more than men because crf“ the seefetion Of 'a'.h_ammne called
A) testosterone B) somatotropin  _C) prolactin D) m—_g'! o
il R
il Q.

Q. 10. The word ‘brackish’ used in the second last paragraph means :
A) pungent B) bitter C) sour D) salty

Q. 11. The bold underlined pronoun ‘them” in the last paragraph of the article refersto Q.
Q. 12. The major aim of the article is to focus on T e ’Q
~A) the benefits of crving on one® health W PES
C) gender differences in crying D) the cc
Q. 13, Tear glands contain substances whi Q

~A) psychosomatic B) psychotropic

Q. 14. can lead to hypertension
A) Excessive crying Y =
C) Outlet of emotions

A) avoid suppressing one’s teq
C) shed tears everyday



